Bl FTAOXRI - EX 1

ER FTAOXRI - EX 2

3% #H E-RK4A

(x+a)(x+b) (a+b)? (@a+b)a-b)

=22 +(@+b)x+ab =a? +2ab+b? =a? -b?
D @+3)x+2) D (x+8)? D (@+5)(x-5)
@ @-5)(x-3) @ @-3* Q@ @+7x-7)
® x+3)x-7) ® (x+6)? @ (x+6)(x-6)
@ (x-9)(@x-5) @ (x-5)* @ (x+3)(x-3)
® @-8)x+2) ® x+4)7° ® (@+4)(x-4)
® @x+5)x-2) ® (x-10)° ® @x+9)(x-9)
@D @+3)x+4) @D (x+9)°? @D x+8)(x-8)

< g B B>

3 #H T K%

(x+a)(x+b) (a+b)? (@a+b)a-b)

=22 +(@+b)x+ab =a? +2ab+b? =a? -b?
D @+3)x+7) D (x+2)? D (x+3)(x-3)
@ (x-2)(x-5) @ (x-8)? @ (x+6)(x-6)
Q@ @+3)x-9) ® (x+6)? ® @+2)(x-2)
@ @x-2)x-4) @ (x-3)? @ (x+4)(x-4)
® @-5)x+4) ® @+7)? ® @+7x-7)
® @+7)x-2) ® (k-5 ® (@+5)x-5)
@D @x+3)x+1) @D (x+4)? @D (x+8)(x-8)

< g A H>



ER FTAOXRN-EKX 3

ER FTAOXRL -EX 4

3 #H E-RK4A

(x+a)(x+b) (a+b)? (@a+b)a-b)

=22 +(@+b)x+ab =a? +2ab+b? =a? -b?
D (@+5)(x+2) D (x+4)? D (@+6)x—-6)
Q@ @-2)(x-3) @ @-77* Q@ @+2)(x-2)
® @+3)x-5) B (x+6)° ® @+3)x-3)
@ x-H-3) @ (x-9) @ (x+5)x—5)
® @-7)@+3) ® (x+3)? ® (@+I)(x-1)
® (@+6)(x-2) ® (x-5)7* ® @+7x-7)
@D @+3)(x+5) @D (x+1)° @D x+8)(x-8)

< g B B>

3 #H T K%

(x+a)(x+b) (a+b)? (@a+b)a-b)

=22 +(@+b)x+ab =a? +2ab+b? =a? -b?
D (@x+3)x+2) D (x+1)? D (x+5)(x-5)
Q@ @-Dx-95) @ @-3)* Q@ @+7x-7)
® @+4)x-6) ® @+7)? ® @+2)(x-2)
@ @x-2)(x-1) @ -8 @ (x+6)(x-6)
® @-7)(x+4) ® @+4)* ® @+Hx-4)
® @+4H)x-2) ® (x-9)°? ® (x+10)(x—10)
@D (x+2)(x+5) @D (x+6)? @D (x+8)(x-8)




